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Lewis DOT Structures of IONIC compounds are easy to construct: VH@’W( g D; Y
HERE ARE THE RULES:
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Example 1. Draw the Lewis Structure of MgCIz.C\ L ¥y Ll W
Step 1. Mg 2cr PY

rf o I’ Z“‘ e \/
9
Step2 ;C\;JEM\S‘} C:C,\E_S )?3
Example 2. Draw the Lewis Structure for each of the following compounds: ( Wy
a.LiBr L* & b.AF; M¥ 3t c.BaO < 3 0 d.Na,S LMo
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Lewis DOT Structures of COVALENT compounds are somewhat more difficult
to construct: HERE ARE THE RULES FOR THOSE THAT OBEY THE OCTET

RULE /i
Court up th ber o [ehee elechons lorousgh
@ ?\9\%\0—5 & OLN{/O;%VQA,\/\VZL\, (&015\) Kal{l I.JC }’ < O Pb[ 0,+\')FV1/ C. \D\/t>>

> Plate 3 elechons betuton each connectcol aTom (byrd

@d'\g&\(“‘\ﬁv’\’ﬁ— HOJ;%m; ’fg\é OV’{-DM Sﬁfﬁmﬁ WJf—M
\\ (\,%"\d\ [ a IV R v 28 _F€+
¢ BT Sl o
Creske. nmulhple loonds & . A horac W<
5'K Ady up qbww shchue. 5o Hhat shared e[eca

Example 3" Draw the Lewis Structure for CHC@’ Hitw Ceenn O
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Example 4. Draw the Lewis Structure for HOPO : Y “‘@ Hiv O
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COVALENT compounds that VIOLATE the OCTET RULE
A. In addition to , the atoms , and are exceptions
asthey have ____ than a full octet when they form covalent compounds.

- These atoms tend to

Example 5. Draw the Lewis Structure for BF3: F stae B rart F
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B. Elements in the and periods of the periodic table
frequently attain than a full octet when they form covalent

compounds.
> Therefore, the central atom w

electrons 5
| Cl,,, ,uCl

Example 6. Draw the Lewis Structure for PCls : )
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